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QUESTION 1

Which two types of fallout scenarios can be detected and notified by implementing a Jeopardy?
A. invalid requests being sent to the downstream system

B. downstream network connectivity error

C. slow downstream system processing

D. failure during order creation

E. failure in runtime execution of automated task XQueries

Correct Answer: AC

QUESTION 2

You have the following process and subprocess configured in your OSM cartridge. The compensation strategy when a
task needs to be re-evaluated is set to "Undo then Redo" for TaskB and "Redo" for all other tasks. On the other hand,
the compensation strategy when a task is no longer required is set to "Undo" for all tasks. OSM has just completed the
execution of TaskD when a revision is submitted, which causes all tasks to be re-evaluated. Which two tasks will be
executed with the Undo execution mode?
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B. TaskB
C. TaskC
D. TaskD
E. TaskE

Correct Answer: BD

QUESTION 3
Which three statements are true about the Rapid Offer Design and Order Delivery (RODOD) solution?

A. OSM in the Central Order Management role is responsible for customer order mapping, decomposition, and
orchestration.

B. OSM manages the order fulfillment life cycle by providing complete lifecycle visibility and regular status updates to
the CRM system.

C. New commercial offerings can eventually be introduced with zero configuration in OSM.
D. Central Order Management is the multi-channel order capture and consumer support system.
E. Central Order Management interfaces with the Element Management and Network Management systems.

Correct Answer: ACD

QUESTION 4
Identify two approaches that you should follow in your OSM design in order to support multiple versions of cartridges.

A. When there are multiple versions of a cartridge with multiple versions of an order, order recognition rules must be
modeled to recognize a specific version of the order instead of the default version.

B. When there are multiple versions of a cartridge with multiple versions of an order, a single order recognition rule
should be modeled to recognize all order versions.

C. To recognize a specific version of an order, the Target Order version of the order recognition rule should be set to the
revision of the cartridge where the specific version of the order resides.

D. Multiple versions of orders are supported when modeling cartridges in Design Studio, but only one version of an
order should be deployed at the same time in a running environment.

E. When deploying a new version of an existing cartridge, the new version of the orders should be compliant with the old
version, because orders will be automatically migrated to the newer version.

Correct Answer: AD

QUESTION 5
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Why would you create a new composite cartridge?

A. to assemble a solution in OSM from a complete collection of all composite cartridges

B. to create multiple solutions in OSM for all composite cartridges

C. to assemble a single solution in OSM from a collection of component cartridges

D. to create a solution that always includes all the component cartridges present in the workspace

E. Because the composite cartridge feature is not included in OSM. It includes only compound or classic cartridges.
Correct Answer: C

Reference: https://docs.oracle.com/cd/E49311_01/doc.724/e41610/ sce_com_solution_carts.htm#DSCOM316
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